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Devoir en classe n°7 ||1:53 Le Vendredi 27 Avril 2007

Année scolaire 2007/2008

Exercice n°1 :
fx)=5 ; f(x) = -3x;
fx)=1-7x ; f(x)=%x-\/§;
f(x)=x4+2x+4; f(x)=%x3-é+7;
X

7

f(x) = 2x3 - x2+ A
2

Ql | =

f(x)=(2—x3) (2x2 -1) ;

2

X< -4
f(x) = ;
8 X+ 2

X< +4
f(x) = ;
0J X+ 2

-X +x+2_

fx) = X+ 2
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Chapitre n°6 page 148-183 ;

1ES3

Exercice n°2 :

f(x)=-4 ; f(x) = -5x;

Devoir en classe n°7

Année scolaire 2007/2008

f(x)=1+3x ; f(x)=%x-\/g;

f(x) = X3 +x2 41 ; f(x)

7

Dérivation ;
Le Mardi 08 Avril 2008
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Devoir en classe n°7

Chapitre n°6 page 148-183 ;
1ES3

fx)=5 ;

fx)=1-7x ;

f(x)=x4+2x+4;

7

f(x) = 23 -2+ S
X2

Q1| =

f(x)=(2—x3) (2x2 -1) ;

x2-4

60 = X+ 2

4

x2+4'

f(x) = ;
09 X+ 2

2
£(x) = X +x+2.

Dérivation ; x+2
Le Mardi 08 Avril 2008

Année scolaire 2007/2008

f(x) = -3x;
f(x) = %x- \/E;

f)=5; f(x) = -3x;
F(9=0; {(9=-3;
1
f(x)=1-7x ; f(X)=EX_\/§;
f=7 ; f’(x)_l :
-7 -2
f(X)=x4+2x+4; f(x)=§x3_é+7,.
2 X
f,(X)= 4X3 +2 ; f,(X)=2X2 + i ;
2 2
X
f(x)=2x3 —x2+ % - 1 .
X 5
f’(x)=6x2 -2x - % ;

X

f(x)=(2—x3) (2x2 -1) ;

f’(x) = x(—10x3 +3x + 8) ;

x2—4
f(x) = pour tout x = -2 ; f(x) =x-2;
X+2
f’(x)=1
2
X< +4
f(x) = tout 2
x) ., Ppourtoutx =
, 2 .
f(X)=X +4x24
(x+2)
2
X +x+2
f(x) =——— ; tout 2
x) 42 pour tout x =
- +4
fo0 = 2 4) 2)
(x+2)
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f(x)=%x—\/g;

4 3

f(x)=-4 ; f(x) = -5x;
f(x)=1+3x ;
f(x)=x3+x2+1; f(x)=%x

7

f(x)=x4+2x+x%-%
f(x)=(1—x4) (2x —1) ;

x2—1
x+1

x2+1

x+1

f(x) =

7

f(x) =

7

2
f(x)=w ;
x+1

Dérivation ;
Le Mardi 08 Avril 2008

-2.8;
X

Chapitre n°6 page 148-183 ;

f(x)=-4 ;
f’(x) =0 ;

f(x)=1+3x ;
f(x)=3;

f(x)=x3+x2+1,-
f’(x)=3x2+2x ;

7

f(x)=x4 + 2x+ % -

1
2 7

f’(x) 43 12 L2 ;
3

f(x)=(1—x4) (2x —1) ;
f’(x)= —10x4—4x3+2;

2

f(x) = -5x ;
f(x)=-5;
f(x) = %X -\5;

, 1
f0)=~;
x) 3

f(x)=lx4 3 -8 ;
3 X

F=2x3+ =
3 X
2
f(X)=—_X ++X1+ L ; pour tout x = -1
X
- +2
P22 2)
(x + 1)

f(x)=X -1 pour tout x = -1 ;f(x)=x-1;
X +
f(x)=1
2
f(x) = X 1 pour tout x = -1 ;
X +
7 2 -
£ (x) = X +2X21
(X+1)
2
f(x)=LXJr1 ; pour tout x = -1
x+1
X x+2
f’(x)=—( 2)
(x+1)
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Devoir en classe n°7

Chapitre n°6 page 148-183 ;

1ES3

fx)=-3 ;
f(x)=2-5x ;

f(x)=x3+4x2+5;
4 1

f(x)=3x4 I N R

2 5x

f(x)=(4—2x3) (5x2 -1) ;

2

f(x) = -7x;
f(x) = —%x- J7;

=§x4-2+9;
2 X

Année scolaire 2007/2008

Dérivation ;

Le Mardi 08 Avril 2008

f(x)=-3 ;

f(x)=2-5x ;

f(x) = x° +4x2 +5;

f(x) = 3x* -x3+ 4. 1.
2 5x

f(x)=(4—2x3) (5x2 —1) ;

2

X< -9 X< -9
f = M f X) = ;
=7 W
2 2
+9 X< +9
f(x) = 2 ; f(x) = ;
X+3 X+3
-x2 +6x +9 -x2 +6x +9
fo)=— 5 ) = ———;
X+3 X+3
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